
9 Matrizen Lösung

Aufgabe 1

Gegeben sind folgende Matrizen:

A =

(
1 0 1
1 1 1

)
, B =

1 2 3
2 3 1
3 1 2

 , C =

1 0 1
0 1 0
0 1 1


Berechne:

1. AT =

1 1
0 1
1 1

, BT =

1 2 3
2 3 1
3 1 2

 und CT =

1 0 0
0 1 1
1 0 1



2. B + C =

2 2 4
2 4 1
3 2 3


3. A ·B =

(
4 3 5
6 6 6

)

4. B ·AT =

4 6
3 6
5 6



5. BT ·AT = (A ·B)T =

4 6
3 6
5 6



6. ∗ B−1 =

− 5
18

1
18

7
18

1
18

7
18

− 5
18

7
18

− 5
18

1
18



7. ∗ C−1 =

1 1 −1
0 1 0
0 −1 1


Aufgabe 2

Invertiere falls möglich die folgenden Matrizen:

1.

(
−1 1
2 −1

)−1

=

(
1 1
2 1

)
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2.

1 0 2
2 3 4
3 0 2

−1

=

− 1
2

0 1
2

− 2
3

1
3

0
3
4

0 − 1
4



3.

1 2 3
1 5 0
3 9 6

 ist nicht invertierbar
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